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SECTION - 1
ENGLISH

Instructions for Q. 01 to Q. 03 :
Read the passage carefully and answer the following questions.

A dictionary is a must for a student. You can begin with simple, attractive
dictionaries and then learn to use the more difficult ones later. So, the next time
you come across a difficult word, don’t fret. Just look it up in a dictionary.

01. What is a must for a student?
(1) A diary (2) A muster
(3) A library (4) A dictionary

02. Find the opposite word for ‘Easy’.

(1) Weak (2) Just
(3) Difficult (4) Across
03.  Fill in the blank with correct alternative.
One can begin with , dictionaries.
(1) simple , attractive (2) simple , difficult
(3) must , next (4) more , fret

04. Match the correct instructions
from the given alternatives.

(1) 1-A, 2-B, 3-C
(2) 1-C, 2-A, 3-B
(3) 1-B, 2-A, 3-C
(4) 1-C, 2-B, 3-A

SPACE FOR ROUGH WORK
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0s.

06.

07.

08.

09.

Fill in the blanks.

Joseph has a brand bicycle.
(1) knew (2) new
(3) now (4) no

Select the rhyming word for the correct action word from the given table.

dig bib

tar fin
(1) far (2) rib
(3) fig (4) bin

Fill in the blank.

, no ! My mobile is ringing.
(1) Alas (2) Oh
(3) Brave (4) Ouch

Choose the correct ordinal number for ‘December’.
(1) Tweltth (2) Twelvfth
(3) Twelfth (4) Twelve

Find the shape of dice used in ‘Ludo’ game from the given alternatives.
(1) cuboid (2) cube
(3) sphere (4) cone

SPACE FOR ROUGH WORK
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10.

11.

12.

13.

Look at the chart and find the correct option.

Leg
I I | I |
Heel Knee Thigh ?
(1) Fist (2) Stomach
3) Jaw (4) Toes

How will Salim greet Vandana on her birthday?
(1) Happy birthday! (2) Congratulations!
(3) Best of luck! (4) Rest in peace!

Solve the riddle.
I can help you to heat

and cook different types of food.

Who am [?
(1) Microwave (2) Blender
(3) Refrigerator (4) Chimney

Arrange the numbers to make meaningful word.

N I O|D|A|R| S | U
1 2 3 4 5 6 7 8

(1) 42153687 (2) 42137586
(3) 76853124 (4) 68753421

SPACE FOR ROUGH WORK
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14.

The clock shows the time
(1) quarter to 5

(2) three quarters past 4
(3) two quarters past 5
(4) 45 minutes past 4

Choose the incorrect options.

15. Choose the proper punctuation mark in the end of the sentence.

‘That's an excellent idea [’
(n ?
3)

16.  Select the correct option.
We should cut our hair
(1) hardly
(3) terribly

Instructions for Q. 17 and Q. 18

2)
4

)
4

9

!

regularly

recently

L/’\V\\\Fresh Fruits

e Megetables
/\.\_“/\\../FO From Daisy’s shop
» healthy » juicy ") tasty
}\.& " Fruits and Vegetables “}g,x
? 59, Mint Street, r
L 88 ey Trichy

SPACE FOR ROUGH WORK
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17.

18.

19.

20.

21.

Fill in the blank with correct option.
This advertisement is based on
(1) fruits and meat (2) vegan and diary

(3) fruits and smoothie (4) vegetables and fruits

Select the motto for the advertisement.
(1) Health is Wealth (2) Truth is Gold

(3) Green and clean Earth (4) Never stop learning

Choose the correct alternative for the given sentence.
‘hooray! teacher, we want to play kho-kho’.
(1) Capital ‘H’ for hooray

(2) Capital ‘T’ for teacher

(3) Capital ‘W’ for we

(4) Capital ‘H’ for hooray and Capital ‘T’ for teacher

Choose the correct pair from the given alternatives.
(1) A flock of bees (2) A flock of geese
(3) A bundle of children (4) A swarm of dogs

Pick out the missing colour of a ‘rainbow.’

Red, Orange, Yellow, Green, Blue, and violet.
(1) Indigo (2) White
(3) Pink (4) Purple

SPACE FOR ROUGH WORK
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22.  Choose the correct contracted form of the underlined words in the given sentence.

‘I am not interested.’
(1) aren't (2) ain't

(3) am't (4) arent'

23.  Fill in the blank.
‘France is European country.’
(1) an (2) the

(3) a (4) no article

24. Observe the diagram carefully and find the

answer from the alternatives.

Fold the paper in the direction.
(1) South

(2) Upward

(3) South West

(4) Downward

25. Which of the following is a permission?
(1) You are welcome (2) 1 drink water

(3) Please come in (4) Don't make noise

SPACE FOR ROUGH WORK
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ABCDE|FGHTIIJ|IKLMNO|PQRST|UVWXY
SECTION - II
INTELLIGENCE TEST
26. Which of the following is the correct example of homophone?

27.

28.

29.

(1) Seek - sick (2) Ship - sheep (3) Two - to (4) Ate - at
Read the poem carefully. Find out how many more or less three letter words

than the 7 letter words are there in the poem.

‘Twinkle Twinkle little star,

how I wonder what you are?

up above the world so high,
like a diamond in the sky.

(1) More by 3 (2) Less by 3 (3) Less by 2 (4) More by 4

ABCDE FGHIJ KLMNO PQRST UVWXY

In the above given alphabet series which of the given pair of alphabets indicate
the difference % times the difference between letter ‘H’ and letter ‘R’.

() D-N 2) K-W 3) M - X 4) E-R

In the given number series the digits of every number are interchanged to form
a new series. What is the addition of the prime numbers in the new series?

13, 95 , 17 , 53 , 37 , 76 , 19 , 41

(1) 180 2) 301 (3) 300 4) 181

Q. 30 to Q. 34 Direction:

Select the odd term.

30. (1) House (2) Planet (3) Cottage (4) Home
SPACE FOR ROUGH WORK
0702-Telugu Set-A 8 of 32 Contd...



ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

Ao - 11
208OBS, 50y
26. 800 8S BooxomEoen BV DO OD?
(1) s (2) Dm0
(3) ooz 4) opsn

27.  80& BS ‘B’ Sgs0 BodS WFHOSV™ 10O
(1) o 2 &
B) & (4) =

28. ABCDE FGHIJ KLMNO PQRST UVWXY

» ogs ards8? ‘H’ soeam R’ 8 egme 058 @, wgome w©og; 508 % 3ew

950550000 80aREBEY O 2BSH0N0?
() D-N 2) K-W
3) M- X 4 E-R

29. 805 @dy© K)ogmé@?s%’e'iﬁ?o B ;\’)0%65?0 ©OB® RTOS TEISPCD 3D 0,RS

éoaptsoeS6 BTeS Do D0EO o0& 50 ?

13, 9 , 17 , 53 , 37 , 76 , 19 , 4l

(1) 180 2) 301
(3) 300 4) 181
[5)'{) 0. 30 Soo& 34 £P8 eSS :-

DBOT®0BD B0 DO HYOD) TR HDTROW  [B3305300 33EBORD [olelgloletalole

30. (1) s (2) o (3) o (4) o8

SPACE FOR ROUGH WORK

0702-Telugu Set-A 9 of 32

P.T.O.



ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

31.

32.

33.

34.

35.

36.

(1) 54 2) 78 3) 66 4) 36
(1) 192 2) 312 (3) 732 4) 726
—
—
(1) (2) 3) 4
]

]
(1) 2) 3) 4)

Rahim’s todays age is twice of Ram’s todays age and % times John’s todays
age. If three years ago Ram’s age was 9 years then what is the sum of todays
age of all three of them?

(1) 60 (2) s1 (3) 54 (4) 58
In a certain code language if Tiger is called as Lion, Lion is called as Shekaru,

Shekaru is called as Deer, Deer is called as Elephant then who of the following
is called as Maharashtra’s state animal?

(1) Tiger (2) Lion (3) Shekaru (4) Deer

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

31.

32.

33.

34.

35.

36.

(1) 54 2) 78 (3) 66 4) 36

(1) 192 2) 312 (3) 732 4) 726

—
—]
(M @)

)

3) 4

]
(1) @) 3) (4)

B DB SODAD a0 [HRB SADIOL B0 T LerT] aRd (HRQE SODKOE
% Gen) 1e. TPRD SO°ED 00858,0°0 B0 9 DOSBTPO0 GOGRD. AT O MO

SO 32080 A, D05& 020 &0 7?
(1) 60 (2) 31 3) 54 4) 38
0 DOCOHT0 PRy DO D PASY DO SPQOE Dot @, SPE DO

DID DO 9D, DIV DOGORD WBE DOED D DOSDEID. LOND ST TP TR0 DOCED

D5 ?

(1) mooes Do (2) oy D0 (3) &rWE Docd  (4)  DID Do

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

37. In the adjacent figure how many triangles
are there?

(1) 12
2) 11
) 8
4 9

Q. 38 to Q. 40 Direction:

Identify the sequence in the given terms / figures and select the correct alternative
to replace the question mark.

38. 841, 7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 (4) 529
39. 91, 82, 74, 67, ? , 55, 50, 45
(1) 61 (2) 58 3) 62 4) 57
40. Question Figures:
T @
= [T
o e
Answer Figures:
T e e T -T o
(1) 2) 3) 4

SPACE FOR ROUGH WORK
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ABCDE|F G HTIIJ

KLMNO

PQRST

UvwXyY

37. 200 089 30080 AN, (HegHeeed 1O ?

(1) 12
2) 11
3) 8
“ 9

88, Do. 38 Hood 40 E°5E> Kol :-
808 DO BEOV HEROWER DEDD, APToS® $) DGO PO F00& i50E.

38. 841, 7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 4) 529
39. 91, 82, 74, 67, ?, 55, 50, 45

(1) 61 (2) 58 (3) 62 4) 57
40. E=ES:

o
o o
RN esE Foew :
R

(1)

)

3)

(4)

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

Q. 41 and Q. 42 Direction:

41.

42.

43.

44.

Find out the mirror image of each of the following question figure from the
alternatives given.

Question Figure: Answer Figures:
[ ] o [ J
o o
(D 2) 3) 4
Question Figure: Answer Figures:
(D ) 3) 4

If your friend misbehaves in front of everyone then what will you do?
(1) T will beat him there itself.

(2) T will breakup the friendship.

(3) I will dishonour him amongst friends.

(4) I will explain him properly about why he should not misbehave.

The school gives you the responsibility of the section, where you have never
worked then what will you do?

(1) I will insist to get the work changed.

(2) I will try to understand the method of that work and try to do it efficiently.
(3) If my work is not changed then I will misinterpret their behaviour.

(4) T will accept the responsibility without understanding the work.

SPACE FOR ROUGH WORK

0702-Telugu Set-A 14 of 32 Contd...



A B CDE

F G HTIIJ

KLMNO

PQRST

UvwXyY

808, D0. 41 Hood 42 E°5E Kol :-
8oes QD (DT ZB 43005, (DB eﬂcgoef5 der BS5EIE0E° R DTV 253020 5B BOO

5009 aéoa’é‘éo&.

41. PRES:

42. |DBNESD:

230500200 eaée)éae» :

/63 \dE b\ B3\ EBd\

43.

D Q@0 @050 S0 BT (NSP0TRE; @08 DY D0 DR ?

(1)
(2)

W56 B BT
VBB V0 D0

(3) Jdpreedd wEdp Vo .

(4) Boor DSOS WD WBEVE FFBDTO.

44. ow @ DO VALY EGR00SD, BT QSY, VOGP PO [ PL00S
Qoo D BRR?
(1) DV SrEER HERRICETORD.

(2) 2R dooio ego BHoKN, B VAR D BODERS (HODS L.

(3) DA 579, BBE0E [O WL GOERO.

(4) ®0 & ego BwEiom eREED NSOV

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

45.

46.

47.

In a row Sameer is at twenty third position from front and nineteenth position
from back. What is the position of Raj from back, who is standing at 5% place
behind the middle position boy?

(1) 1eth (2) 28th (3) 13t (4) 27t

In the given path while walking from ‘A’ to ‘B’ - C
how many times will you face the north direction?

() 2 B

2) 3

3) 5

4) 6 A

North %'—

Some birds are sitting on tree ‘A’ and some birds are sitting on tree ‘B’. If
one bird from tree ‘A’ went on tree ‘B’ then the number of birds on tree ‘B’
will be twice the number of birds on tree ‘A’ and if one bird from tree ‘A’
will go on tree ‘B’ then the number of birds on both the trees will be equal.
Now initially how many birds were sitting on tree ‘A’ and ‘B’ respectively.

(1) 3,5 2 7,5 (3) 5,7 @) 5,3

Q. 48 to Q. 52 Direction:

48.

In the following questions, first pair has some relationship between first two
terms. The same relation holds true for the second pair. Identify the relation
and select the correct alternative to replace the question mark.

Cool : hot :: strong : ?

(1) brave (2) thin (3) week (4) weak

SPACE FOR ROUGH WORK
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45.

46.

47.

a5 SRS? P06 eB0go S00d BOJIREDS S0VOTLL DS F00&  HoFS agmoesﬁ
&S S0 o) 1o eeRan Bowe 58 R0 10 ey DO WOR DSS @(géoess

0GR ?

1) 165 2) 285 3) 135 @) 275
©EN, Srgo o A’ Apso wod B apmo -C
SO DDV DY, PGB0 OF WP

585,507 5

1y 2 .

@) 3

(3) S

) 6 -A

&850 —

‘AT Bepp ER, dpeo meate B Bepp 5, dpeo 5rE0R ewown. esde A
€0 o e o
[3 ’ 3 ’

Bend o o5 D8 B Bend fo 5o 3B; ©@and B Bend He D50

e o— ) o— o ) o—

3 ’ ¢ Y

880y erdo. oo B 3end o a5 ©§ A 3R I 0o IR Mo P
Doy VSFH0 eHT; wood @evood® A’ meamn B 3gp ([Esoom I, D0
0GR ?
1 3,5 2 7, 5 3) 5 7 “4) 5, 3

&, Do. 48 500& 52 SBE D095 :-

48.

80 Las%esj?o R0EES [0OOTND BOLSSS DO 0G5 88 D000 58 0. £9E0S0E3 502206530

SRS FOOOTD TS DOS) G0D. €8 HOVOFSVI HYoD  [0F, I, agéoesﬁ 53y

DHORADES0 D30.8%4.
3 T & 1 0 9

(1) esgo (2) a0 (3) 0 (4) e

SPACE FOR ROUGH WORK
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49. Shyamchi Aai : Sane Guruji :: Wings of fire : ?
(1) Jayant Naralikar (2) Dr. APJ. Abdul Kalam
(3) Pranav Mukherji (4) Dr. Homi Bhabha
50. 37 :40 :: 25:7
(1) 19 2) 27 3) 21 4) 30
51. 14 :15 :: 32:7
(1) 35 (2) 42 3) 31 (4) 18

52. Question Figures:

a0 [
A | %Sy @@: !

Answer Figures:

vl < S0
O || &) losd || B

(1) 2 3) 4)

53.  John, who is born on 5" January 2001 Friday, is 100 days elder to Shanaya
then on which day was Shanaya’s first birthday?

(1) Thursday (2) Tuesday (3) Wednesday  (4) Monday

SPACE FOR ROUGH WORK
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49.

50.

S1.

52.

53.

BES0R [0TSR,

(1) &3 ssomoms)

(3) & sodress

37 : 40 :: 25 :
(H 19
14 : 15 == 32
(1) 35

?

Q) 27
?

2) 42

DD B E DBoewn :

3 1O )

)

8
(4) 3 E%DEUrE oEERITY

3) 21

3) 31

S-S :

335008 FBEY

?

4) 30

4) 18

v

A

0
¥y

_ﬁ@@

DAV D|Soen :

G

i

AV,
S

5

ﬁ%@

(1)

2

3)

4

20015 Dosso 2350 55 8O RIS @ps, sware 508 100 e gaem. 00

FIOTT® Bo0ESE @%}%6‘53&’ D D00 &ORIO?

(1) mHoaess0

(2) Soorgaessn

(3) ewgaess

(4) ®HSOES0
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54.

5S.

Select the number to replace the question mark in the given grid.

751 7 |25
18133 |63
? 15212

(1) 46 (2) 42 (3) 35 (4) 48

In a certain code language if 25 = 532, 57 = 725 and 34 = 413 then how
will you write 14 in the same code language?

(1) 314 2) 451 (3) 431 4) 514

Q. 56 and Q. 57 Direction:

56.

57.

Identify the figure which exactly matches with the question figure from the
four alternatives given below.

Question Figure: Answer Figures:
(D) ) 3) 4
Question Figure: Answer Figures:

(1) ) 3) 4

SPACE FOR ROUGH WORK
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54.

5S.

806 BdyS DS [DEDEY WIS O Dogy W2

751 7 |25
18 33|63
? 15212

(1) 46 (2) 42 (3) 35 (4) 48

8.5 5088 (§9&) erad® 25 = 532, 57 = 725 sovam» 34 = 413 qer ooRpdd. 9000
o8 0088 (59G) grad® ‘147 Dogd der TRt ?

(1) 314 (2) 451 (3) 431 4) 514

La’):a; 56 50800 57 £°65 K55S :-

56.

57.

80es RIANS @’){1933?0 VDG B0 e &V, VB0 VATPES D|BE0O SO0 @Eﬁoﬁso&.

DB BE VSO : DIeRS D|Goen :
(D) ) 3) 4
DD BE VSO : DS D|goen :
Q' -7
N
(1) () 3) 4)

SPACE FOR ROUGH WORK
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58. In the given Venn diagram numbers indicate the students in the school who
like the activities like Dance, Drama and Music. How many students like at
least two activities?

<—— Dance

Music ———» pa
<—— Drama

(1) 59 (2) 33 (3) 46 4) 20
Q. 59 to Q. 63 Direction:

In each of the following questions three terms are given with some common
relation. So their group is formed. Select the correct term from the alternatives
given which has the same common feature of the given group.

59. Storm, Tsunami, Flood

(1) Rain (2) Accident (3) Famine (4) Ocean
60. Potter, Carpenter, Doctor

(1) Wood (2) Medicine (3) Study (4) Tailor
61. 9 315,707 4,8 13)3

(1) 8 (26) 5 2 7@23)5 3) 717 3 4) 6 (20) 2

SPACE FOR ROUGH WORK
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58.
<50
DPOVO0WIEO0 ———————> poéa
%m&){so
D5T0D, DWOS! 8.5 ETOEND HEB0, T30 FHOATV TO0HBE0 B8 JIBOS [P0 1O T
Do BrHRGoD. HY S0 Bowd FEoS) SFBR BRO 1O IO ©0g); 0B ?
(1 39 (2) 33
(3) 46 4 20
59.  0oP0, Somedo, S8
(1) &go (2) Barso
3) s (4) S0oTEHS0|ES0
60. S, OB, YE
(1) &osm (2) soostig
3) d3o® (4) o
61. 9@BDHS5,7(17)4,8(13)3
(1) 8(26)5 2) 7(23)5
3) 7(17)3 4) 6(20)2
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62.

63.

64.

65.

18 27 36
42 > 63 ° 84

24 51 30 72
(D 75 2 119 3 o 4 120

Question Figures:

AN T2)] JHB| | 2

Answer Figures:

) Q\J Y'/

(1) 2 3) 4

In a certain code language if [3, 4] [%] = 26, [I, 3] [%] = 23 and

[2, 5] [g] =47 then in the same code language how will you write [2, 7] [%]‘7
(1) 52 (2) 20 3) 42 4) 62

Statement A : Sourabh is 17 years old and he is three years younger than Seema.
Statement B : Sharayu is younger than Sharad, her age is 21 years.

Select the correct conclusion of statement A and B from the given alternatives.
(1) Sharayu is younger than Sourabh by 4 years.

(2) Sharad is younger than Seema.

(3) Seema is 14 years old.

(4) Sourabh is youngest in all of them.

SPACE FOR ROUGH WORK
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62. 18 27 36 E}{
42 > 63 ° 84 FAE

1 23 @ o ®) o0 Ot A

63. DBODnBE Doen : g

L) HH) || 2

DR D(Boen :

(1) 2 3) 4)

64. o5 nos (96) erad® [3, 4] [3] = 26, [1, 3] [5] = 23 sovawo [2, 5] [§]-47
QEP TR, @O0F @B 0088 (§°8) gradd [2, 7] [%] B0 dew TR ?
1) 52 2) 20 3) 42 4) 62

65. D356 : A) 2oH SovHo 17 D055 TS0 TR a7 o0& 3 DOSB TR0 DV,TOE.

B) #som sonm 21 Sosssanes s 66 S0 DN.
O o0& HOGHD A MHOHOR.
(1) #oomo o 508 4 JosB e DSO.
(2) 05 daoe 508 DI,
(3) R Sond 14 HosBTe0 Hem.
(4) @o5e5 SaDPOS® 06D 508 DS

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

In a certain code language if COW = 274, CAT = 684 and WET = 825 then
in the same code language how will you write GOAT? [The order of letters
and numbers may not be one to one.]

(1) 4768 2) 7186 (3) 8765 4) 1785

In the following question select the correct alternative to replace the question mark.

A 2 o

(1 35 (2) 4 3) 3

Observe the table of alphabets and signs and
find the word opposite to ‘Good’.

A|lB|Cc|D|E|F |G
Al Ol ®@ | + | | | |

(H OA+ 2) ®A+
3) e O+ 4 Oe®

How many quadrilaterals are there in the given
figure.

(1) 60
2) 30

3) 33

@ AR

SPACE FOR ROUGH WORK
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RS T|UYV

W XY

66. o5 3085 (8°%) grmes® COW = 274, CAT = 684
TORRD. @00 @3 0088 (§98) grad® GOAT DEos0 dew ooRR.

soeomo WET =

(Rre5S: eoZoRPen SHOADO 908 SN 28 DEFOTP B0VOER BDBD0)

(1) 4768
(3) 8765

2) 7186
4) 1785

67. 300 DS (0¥, DT AWPOS O Dogy S ?

N

825 e

(I 5 2) 4
3 3 @ 1
68. ‘Boon’ DR 3OGHP @Yo Bod B D&?
(1) 002 (2) g
(3) 3 4) 3w

69. (D508, e5dS) Lo IV, BEYERED T ?

(1) 60
2) 30
3) 33
4) 32

SPACE FOR ROUGH WORK
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70.

71.

72.

73.

Observe the given figure. When figure is folded on lines then which of the
following cube is not formed?

1 1 1 3

(1) (2) (3) 4)

In the given series, select the correct alternative to replace the question mark.

NOOS, OO/, XOND, ?

VARSI @ /N
® (/N CHAYANS I

Identify the pattern of numbers in the series and select the wrong term.
3,1,6,7,10,26,15,63, 21

(1 1 2) 7 (3) 15 4) 21

Varsha was facing the setting sun, she turned at 135° twice to her right side
and went straight in her house then in which direction is the door facing?

(1) South (2) South-East (3) North (4) North-East

SPACE FOR ROUGH WORK
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70.

71.

72.

73.

S
1 2 3 4
6
0508, 580 A% Dowmre SoED FOJ0M BATPH VI, 8od MBS O owesto
D656 ?
1 1 1 3
) 6 6 6
2 3 2 2
(1) (2) 3) 4)

805 @D VDS BB, HIDT7, PP $5P) DD DMFH 0 JOVS BOVOE.

NOOS, OO/, XOND, ?
n NOOOD @ /NOOO
® (O/A\NOO @ /N

8065 aDyS D0aREREND DogyEen APHID SV’ DTPEDD. €3 SV MHEOIWER
RS 90500 D500 A0S0,

3, 1,6, 7,10, 26 , 15, 63 , 21

(1) 1 2) 7 3) 15 4) 21

30, Kmd)é&?\) D&, ST 135%0 Bocso pm) EJI S o Qo308
©3B0D0D. oD YOS [HBT GO D OF J) BOEINO?

(1) 8es0 (2) estamo (3) esoo (4) &s3m050

SPACE FOR ROUGH WORK
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Q. 74 and Q. 75 Direction:

In each question a problem figure is held vertical above water surface. Identify
its water reflection and select the correct alternative.

74.  Question Figure: Answer Figures:

(1) (2) 3) 4
75.  Question Figure: Answer Figures:

(1) (2) 3) 4

SPACE FOR ROUGH WORK
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L3N 74 50900 75 SEE a5 :

8065 BdyS DSORES B0 B, ED00 DBS der E5EEOEY R (HBESIODORD

VSR DBOO H00D DOVE BADOB.

74, DSoRNBE DO :

DTS D(Soew :

(1) ) 3) 4
75, DoDEE DSO : DITPDS DSoen :
(D 2) 3) 4
SPACE FOR ROUGH WORK
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